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Unit 7A Day 5 and 6: Stretches and Compressnons
F Focus Question: How do I stretch or compress a function?

A. Today we will look at two more (ransformations: Af(x) and /(kx) where f(x) 1s the function and k 1s some
constant value. These transformations will stretch or compress a function

1. How is Af(x) different from f(kx)? 2. What does stretch mean‘? 3. What docs compress mean?
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B. Transfor mation: K (x)
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4) If k > 1, what does it do\% the function?
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5) If0 <k < I what does it do to the function? ¢ v
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C. Transformation: [(kx)

1. What does /{Ax) mean you do”
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Use three different colors to graph each function
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4) Ifk > 1, what does it d on? | .
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5) If 0 <k < I, what does it do to the function? St

6) What kind of transformation is f(kx)?
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Look back at y0u1 glaph for g(x) = 2|x| on the hmc tand g(x) = |2x| on this side. What do you notice about
(\ their graphs? -+ \/\t | i ¢ \rék_y\x \ CCA

So, can you tell from a graph what transformation has occurred? f\j ) \ \ LWL '\ (/ (\ H/U/
L AL o ”

( |
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vertical compressions look identical to \~ ) ¢ 3;’1*(&\( Qﬂ Y LJLC - You have to look at the }
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[t 1s easier to tell on absolute value because either the k 1s with the x in the absolute value bars ox> in front of the

absolute value bars.
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Then graph your answer to see if you are correct. ~ :
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Give the vertex and a.o.s. for each graph. — 3
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